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— EBIE e p) (x + 29) + (x+2p) (x + @A E x WIBETFH R, Mop* - 14pg+9g*=0.
HIEZH(x+ ) (x+c) + (x+e)(x+a) +(x+a)(x+ )N x WEFHFK, Wa=b=c,

IEBBD (x+ p)(x+2¢) + (x+2p)(x+q) =2x"+8(p+q)x+4pq
ZREWR ax® +box +c HELEFHFRUABELZMSR A=b"~-4ac=0

S H9(p+ ) -382pg=04839p - 14pg+9g* =

i @ (x+b8) (x+)+(x+e) (x+a)+(x+a) (x+b)=8x*+2 (a+b+c)x

+ab+ac+be
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S at—2ab+ b+ at—2ac+ ct+ b - 2bc+ci=0

S @-b+(a-o)i+(b-o)*=0, ‘’ae, b, cHMELH.

oo a—b=0, a-c¢=0, b-c=0

i a=b=c
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B 4 =
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y~2z=0 B y:z=2:1; BEyiPBx-2=0,

Bl x:z=1:1, Bk, x:ystz=1:2:1,

@) RTAFBUANE

X -2y+8z=0 6))
{2x—3y+4z=0 ®
4x2+3yv+2—xyz=216 @
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(z-2)(2*+22+4)=0,
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0 HHMAIE LS R ANES .
C B B R R sect >0 )

7. RIE(L) 8+ 4cosh + cos29 =0
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sin(2¥x)

- = cosx - cos2x-cos(2¥ 'x),
2¥sinx

RIE (2)

2¥sinxcosxcos 2x+-cos(28 x)

it Fk— Hiw=
28~ sin 2xc0s 2xc0s 2x+-+c0s(2V 7 x)
2¥sinx

2¥sinx

sin(2%x)
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FEZ HEAARK. B
Sin2x = 2SINX * COSX,
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sin(2¥ " 'x) = 2sin(2¥"2x) « cos(2¥"2%x),
sin(2¥x) = 2sin(27 " 'x) » cos(2¥ " 'x),
R n AEXFHAMHEHFAHEXFRAER, B
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o~ sin(2%x)
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FEnABE, Bin=2k,
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= 2sin(A+ B)cos(A - B) —sin2(A+ B)
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=2sin(A+ BY( ~ 2sinAsin( - B)2
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= (=1)""'4sinAsinBsinC,
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. TEAABCHIMAB, AC |48 —5D. E, EAD=—:_13—AB, AE = —;—AC, ¥ 4BE,
CDHATF, iEAFCBHIE R NABCHEH R —3,
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8 8 4
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H AADEesAABC, DEzé—BC‘. ADEFosACBF
1 1
oo SAADE=_9‘SAABO, Swm‘:’é—smum

1 2
X SAABE=—3"5AABaa 5A030=§SA430
{E!, SAABE_SAADE—SADEF:SADBO_SAGBFS
1 1

1 . 2
o 3 SAABG_? Saaro Py Sagpr= gsuyo—sww.

1 .
%ﬂf% SAGBF:’;‘SAABO

. A.B, CHEANEE, Kif—AH, Bit4. B, ANCHARAMNWRET AL
ZK.
g% A4.B.C.m, =
Rk ©O0F4.B5, HCEHOOMMARKAm,
SrH7 CHE D
fEik: HERBRCBRHEEKE LEDK,
i CD.CB=m? A
& 4, B, DZHEEO,
BRR BT R,
iEBl ECEWMEOFE
& CE*=CD-+CB=m*
oo CE=m, -~
it Wm<CB, WDIECBL;
im>CB, WMDFECBRIERLR L
Mm=CB, WMD5BHE4E. HENCOKEN A, BHN, HHWCBT B,
m A.B.CE—HZLE, WA,.B,.DIFE—~HL L, WEHEELRE,
m A.B.CRE—ELL, WAEmZKENE, REHRE—MH.

bt ——d

~NLAOFLELBEE S HE
FrsE— 4
CA) B TAABERNGE FHRNEER
—  -2wt-2+ 4 = Of—MR¥ 2, REWREN (HAER).
(A =405 (B) —40, —~AEH,
(C) WA (D) —%iR, —iih
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(x-2)(x*~2)=0 PFR24s, MEBIELH.

~10, 1
A4)
)
(F)
#

T4l gsin26°20’ = 9.6470 — 10 &1 gsin26°30' = 9.6493 ~ 10,

x BB BL{E N (26 °277).
26 °28/; (B) 26°24's
26°25; (D)26°26';
26°27,
log 5in26°30" =9.6493 - 10

log sin26°20' =9.6470 — 10

10/ f 334 = 0.0023

log sin x=9.6486 — 10
log sin26°20' =9.6470 — 10

IEEXT A E = 0.0016
0.0023 : 0.0016=10" ¢ y

S x=26°20"+7 =26°27
4> B
C) MHH4R;
(E) WEHZ.
M ¥p=20cosOWHFE R Lo,
o pF=20pcosh,
B x*+y*=20x
XRE—4 B0,
m,

(4> | (B) #HE

_107%0.0016 _,
T 0.0023

(o, OR—HERABIR, Mo =20cos0 BB (&),
(B> WH;
(D) R,

Bl po*=x*+ 3% pcost=xfCN,
Bl (x—-10)%+ y*=10%,

0 [EG, 12 r H10ME,

2+ 2xy+ Y +x+y-2=0 2BER(CETER).

(C) Mg (D) sk

B it 2xy+ i x+y—2=0,

A=C=1, B=2,

B*—4AC=2*-4(1)(1) =0,

S ANIMRBGRE, #H—PH, REBTSR

(x+y)2+(x+y)-2=0

Bl (x+y+2)(x+y=-1)=0,

# lgsinx =9.6486

(E) ZPHER

RRBABHRYE, ENRRFHE/ERx+y+2=0, Rx+y-1=0,
I, BRI (a+6)'7 2255 15 TR (680a%HM),

(A4) 2380a'°6% (B) 680a%h' (C) 1736a'b%
(D) (a+b)' (E) d%,
8 (a+5'7 25515 Wh
" - 1716+ 15
Tr =70 " =Ty = clta’"1pt = Lg%t = = 26. -
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B. BEBMEREERR L.
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. PSR %+ y+4=0, 5x-2y=10 AEBMIE N - 1.

H& x+y+4=0 PRk = ~1,

H%& 5x -2y =10 MR kzz_Z‘.
S BAVEREZ B MNIETA
5
-k 3 D 5ag T
1+ koky, " 2-5 3°

tgop=

1+(—‘;’—)<—1>

= Bx, yEELH, i=A -1, H(xr+in)~@+ad =(x-in)A+i), Mx= =8,
o (x+yD)-Q@+a)=(x-yD)A+D). BIFRR
(x=2)+ (Y -Di=(x+y)+ (x- i,
BERHE x-2=x+y., y-4=x-y,
|z, 1B x= -8, = -2,
=, ¢ d a+5d
b b+%e | =0,
c c+Bf
R ¢ d a+5d e d a e d d
b e b+Be|l=1b e bl +5] b e e | =0+50=0,
¢ f c+5f c f ¢ c f f

ﬁg o.o

H. BHOR |

R B ox=1+2f,

x ZEBTIRRA, sin =~
— 1 2/2
cosx—»\/l—smx-— 1-9— 3 .
1 —
sin x = i = - 1____ :-—-'\/2 ~ ~0.35
cos X 2,\/2 2~/2 4
3
x=1+2¢ — _ %=1
Y=t 1)23ﬁ%%7’i‘?§% y—._-i_é...-...
Bl = x;1 . RAB—R.
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x—]_(x—]_ +1) x—l( x+1) x2°-1__ x? 1
2 24

~ x* 1
S BRBEGENEAARTEN v= T 1
2 h2c e
1 +si
—. IFM ——-ix—=(tgx+secx)z.
1-sinx
sinx 1 z (1 +sin x)?
'l =({qg x - 2= + = "
WA = (g 2+ sec ) <cosx cosx> cos*x
(L+sinx)* (1+sinx)? _ l+sinx
1-sin®x (1 +sinx)(l—sinx) 1-sinx =

S RABIE
=, BHBEA-5x"+txts=0, Hipt, sHEL BHEFEZ—HN2-3i, R,

sZAH.
M HE—HWRh2-8i, B—iBUR2+8, x*~b6x+tx+s BEW 22— 4x+ 13 B, T

B-bxl+tx+s=(x*-4x+18)(x-DD+U-1Tx+ (s +13)
S HMit-17=0, s+13=0, B1=17, s=-18,
=, BEFHATBIEHAR

12+2 3+3'4+---+n(n+1)=—;—n(n+1)(n+2).

iEBB 1) Yn=18, Z=1+2=2, =—;—-1-(1+1)-(1+2)=2,
S Y n=1 B, KAIEH.
2 &% n=*k Hﬂ.a ﬁﬁEﬁQ El]
1-2+2-3+---+k(k+1)=%k(k+1)(k+2).

ﬂ;/A’ n=k+1 B‘j» ﬁ
12+283+8 ¢4ttt b(B+1D)+CE+1)(E+2)

=%k(k+1)(k+2)+(k+1)(k+2)

=—_:1;<k+1> (k+2) (k+3)=—;—(k+1)(k+1+1)(k+1+2)

S Yin=k+ AR BIER.
SRR E K% n FIER.
W, 8P (% y)RP (%, y) AR, SP EERX vy T B, P, fELSEEP. 2
HREBH, XxPT A, RABPFEHE,
R BEP BHEERL BIFEN
y—yi=k(x—x),
W4 L B EAR
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1
Yy=y:= ——E-(x—xz%

y=y1=kx-x),
2 {x=0_

153 ﬁ@éléﬁﬁ@(ﬂ, Yi— kx),

1
o s e
y=o.
B ABBITH by, + 225 0).

AB¥ 5 M (x, y)%( ky, +x,  yi—kx ),

?

2 2
ky, + %,
x=—,
2
"§y=zzﬁa
2 -

GIE:S
2x1% + 231y — Y12 — %:1%: =0,
WABH KRB A —HE.
H, PhimRy =ax E—&, QRAYMH R - 5HHEE, BRPORMWARZ i
FM, PREWHE2ZHTN, ERMNERBEAMYRZL TR T2,

iE P sk (x, o)

Qs H(x, o)y REBHEH (%, -2v/m).
Q) HEPQHFEN

y"z’\/xl _ 2~/x2—-2/\/x1
XX - Xg — X1 ’ o
5xii CBly=0) ZZEHH /
M("\/xlxz, 0). P ] E:
(2) HLPRMFRER
y-2x _ o mram i
X=Xy - Xy~ Xy

B85 x 2R M NN im, 0). M NS EEESBIRY (0, 0)
B, ORMNHhE, HOEFESMN.
A ES—an
(4) BERERINEER,
a«_c_e

= By== FAERMERER:
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e a+c a+ct+e cte
O F=%=a* P Frdrf T d+f’
ad ¢ ac e
(&) —bc—=7; 4) bd =7;
> atc-e _ e
b-d+f f°
( atcte c+e)
b+d+f d+f /°
w@ € €
L
W4 a=br, c=dr, e=fr
. a+c+e br +dr+ fr
“ Tbtd+f  brd+f T
cte dr+ fr
d+f  “d+f
atc+e ct+e

 Tb+d+f  d+f
Z. BN ABCDY, #
AB:BC:CD:DA=1:2:814,
MA,B.C.D&f%(90°, 126°, 90°, 54°),
(1) 45°, 185°, 45°, 185°;  (2) 36°, 72°, 108°, 144°;
(3 72°, 108°, 72°, 108°;  (4) 90°, 126°, 90°, BA°,

R BEOASEE IR A
1+2+8+4=10

-~ 1 ~ 2
S AB=860°x——=36°, BC=860°X—=172°
B=36 5 =36°, BC=36 5 =7
CD=860° x—— =108°, DA=860°x % =144°
- 10 ’ - 10

AC =86° +72° =108°, BD=72°+108° =180°
e AC=108° +144° = 252°
~ BRAUEBBRZEEZ.
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M, #195.8=0.7634, 1g2.19=0.3404, N /g(580x 2190)%%T*(6.1038),
(1) 0.5770; (2) 1.1088;

(3) 6.1038; (4) 264.06;

() 416.74,

8 log(580x2190) =log 580 + log 2190

log 580=2.7634
log 2180 = 8.3404

(+
6.1038
2 2
., %sinA=——-3__—, cosA=-——5——, tgA=—; sz'nB=——1_——, cosB = ——,
W29 ~29 5 5 5
1 1
=5 Wiglt+ BEF(1),
1 a8
(1 TN (2) i
1 1
(3) Y 4) 1—8—;
1
(5) e
2.1
tgA+tgB 5 2 4+5 9 1
e = = = =— 1———.
& fg(A?-B) 1~tgAdtgB 1_3.‘1_ 10-2 8 8
5 2
(B) WBERBZREEBAR L.
1. sin330°2{§j(3——;—.
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8 (1) sin330° =sin(360°-80") = -sin80° = ——,
2. & -4x"+5x -2 MR TR -2 (- 1)%,
B AGERE 1-4+5-2 |1
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S BR=(x-DG~8x+2)=(x~-D(x~1{x~-2)
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